Year 2/3 Home Learning (Week 3 and 4)

Year 3 - ANSWERS
Week 3 - Week commencing 15th June 2020
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Fractions – Equivalent Fractions 1
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Grammar
Complete the grammar activity – Using the Present Perfect Form in Sentences
Fluency
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Geography 
Mrs Smith’s Continents and Oceans of the World Quiz
Answers
Question 1 to 10 (one point each)
1. c – five
2. a – seven
3. b - A large body of salt water.
4. c - A very large land mass.
5. d - Billy Ocean
6. c - United Kingdom
7. a - Pacific Ocean
8. d – Asia
9. d - Arctic Ocean
10. c – Australasia/ Oceania
Bonus Question 1 (one point each)
Arctic Ocean
Atlantic Ocean
Pacific Ocean
Southern Ocean
Indian Ocean
Bonus Question 2 (one point each)
Asia
North America
South America
Europe
Africa
Australasia/ Oceania 
Antarctica
Reading
Questions 
1. What is Amelia Earhart Famous for?
Amelia Earhart is famous for being the first female pilot to fly solo across the Atlantic. 
2. What is Amelia’s sisters name and what did they do they do together when they were younger?
Amelia’s sister is called Grace Muriel and Amelia loved having adventures with her sister. They would climb trees and hunt for rats.
3. What was Amelia inspired by?
Amelia was inspired by successful women with jobs that were usually only done by men. 
4. Re write the sentences and fill in the missing blanks:
Amelia had her first flying lesson when she was just 23 years old. In July 1921, she bought her first plane. 
5. What was Amelia’s first plane called?
Amelia’s first plane was called The Canary. 
6. What happened in May 1932?
In May 1932 Amelia became the first women to fly solo across the Atlantic Ocean.
7. How many miles did Amelia and her navigator Fred Noonan plan to fly on their biggest adventure?
Amelia and her navigator Fred Noonan planned to fly a journey of 29,000 miles on their biggest adventure.
8. What happened to Amelia and Fred on their last adventure?
On their last adventure, Amelia and Fred tried to make a flight to Howland Island but unfortunately, due to poor weather and low fuel they never made it.  
9. What was built on Howland Island in Amelia’s memory?
A lighthouse was built on Howland Island in Amelia’s memory.
10. What did Amelia do after she left school?
When Amelia left school, she worked as a nurse’s assistant in Canada. She cared for wounded soldiers from the First World War. 
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Week 4 - Week commencing 22nd June 2020
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Fractions – Equivalent Fractions 2
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Fractions – Equivalent Fractions 2
Problem Solving – A questions only
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	[image: ][image: ]Fluency –A questions only
	

















[image: ]











Fractions – Equivalent Fractions 3
Problem Solving – A questions only
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Grammar
Complete the grammar activity – Using the Present Perfect Form in Sentences
Fluency
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3a. Sian is not correct as one half is equivalent to two quarters. Two halves is equivalent to one
whole
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6a. Ellie is not correct as one third is equivalent to two sixths.

6b. Roj is not correct as one fifth is equivalent to two tenths.




image11.png
2

Ta - any 2 squares need to be coloured in for each shape.

e w2 P

7b. —' _ 2 any3 squares need to be coloured in for each shape.

s 15, i s s o
One eighth = 0dd ones out

ERE 2 @ [T}
8. Onetenth= —— —°_ Onesith= —— —°_ Oddonesout= —— >
) ERE T}

9a. Crystal is not correct as two sixth is equivalent to four twelfths.

Qb. Oscar is not correct as two thirds is equivalent to four sixths.
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Developing
1a. Simple past: pushed:; Present perfect:

have/has climbed
2a. loves

3a.True

4a. Eric is correct.

1b. Simple past: passed; Present perfect:
have/has asked

2b. has pulled

3b. False, simple past is ‘found’; present
perfect is *has found’

4b. Leah is correct.
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Developing Developing

1a. My class teacher, Mrs Simpson, has 1b. The door to the old, dark house has
passed her driving test today after her fifth opened slowly, creaking loudly.
attempt. 2b. Present perfect because part of the
2a. Simple past because the verb is not verb ‘to have’ has been used with the
formed using ‘have’. verb ‘ask’.

3a. have pushed 3b. has told
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Each sentence below has one word that is incorrect. Write the correct
spelling of the word in the box.

1. Seprate the coloured clothes from the white clothes before washing, separate
2. We are probly too late to get that bus now. probably
3. The weather was o exchreme. It was really windy extreme
4. Ifound it hard to breave in the smoke. breathe
5. Imade Mum a card with a hart on the front. heart

6. It took great strenf to lift that huge bag of books. strength
7. Did I menshun it's my birthday tomorrow? mention
8. The maths test was really diffikult. difficult
9. There was a lot of preshure for them to win this match. pressure
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The spelling mistakes in these sentences have been circled. Write the
correct spelling for each circled word in the box.
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2. We did a spelling und test today grammar

3. Paul read the mﬁruamn.m put the bunk beds together guide
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6 Would gauzﬂmg your bike? consider
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8 The road was flooded nn it was closed therefore
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8a. B (fifths).
8b. C (eighths).
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Developing
1a. Mark has made a mistake. Two fifths is not an equivalent fraction to one half and the fact that it does not
line up with the line on the bar shows this.
1b. Tyson has made a mistake. Two fifths and three fifths are not equivalent fractions to one third and two
thirds and the fact that they do not line up with the lines on the bar shows this.
2a. The fractions chosen must have different denominators. Possible answers include:

102 3 4 2 1 4 6

TR e w2
2b. The fractions chosen must have different denominators. Possible answers include;
4 1 2 8 6 3 12 24

8 2'4'16° 8 4'16'32°

3a. Object A, because it shows one quarter. A denominator of 4 cannot be turned into a denominator of 4 by
multiplication or division, so the fractions are not equivalent.

3b. Object B, because it shows three fifths. A denominator of 5 cannot be turned into a denominator of 8 by

multiplication or division, so the fractions are not equivalent.
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Expected
4a. Obed has made a mistake. His ninths are not equivalent fractions to fifths and the fact that they do not

line up with the lines on the bar shows this.
4b. Bam has made a mistake. His elevenths are not equivalent fractions to sixths and the fact that they do
not line up with the lines on the bar shows this.

5a. The fractions chosen must have different denominators. Possible answers include:
2 1 4 6 3 6 9 12

TR TR
5b. The fractions chosen must have different denominators. Possible answers include:
2 1 3 4 3 1 6 12

6 3’a’12° 6 2’12724

6a. Object C, because it shows three tenths. A denominator of 10 cannot be turned into a denominator of 4
by multiplication or division, so the fractions are not equivalent.

6b. Object B, because it shows three eighths. To turn a denominator of 8 into a denominator of 12 requires
multiplying by 1.5. Multiplying the numerator (3) by 1.5 gives 4.5 which does not match the numerator of 6
on the number line, and is also unacceptable as a numerator.
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7a. Pippa has made a mistake. Her twenty-fourths are not equivalent fractions to fourteenths and the fact
that they do not line up with the lines on the bar shows this.

7b. Tia has made a mistake. Her twentieths are not equivalent fractions to sixteenths and the fact that they
do not line up with the lines on the bar shows this,
8a. The fractions chosen must have different denominators. Possible answers include:

3 1 6 9 10 2 20 30

15 5730’45 15 3 '30°45
8b. The fractions chosen must have different denominators. Possible answers include:

12 3 4 8 2 4 16

12 24736'48° 12 3" 624

Qa. Object C, because it shows seven eighths. The two fractions have the same denominator but different
numerators so cannot possibly be equivalent.

Qb. Object A, because it shows fourteen eighteenths. To turn a denominator of 18 into a denominator of 9

requires dividing by 2. Dividing the numerator (14) by 2 gives 7 which does not match the numerator of 6 on
the number line.
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5a. Three fifths is equal to six tenths.

5b. Eight twelfths is equal to two thirds.

7a. Musrat's statement is false.
7b. Steven’s statement is true.

1 2
8a. 5 and e
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8b. 5 and 75
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Developing

1a. One half is equal to two quarters.
1b. One quarter is equal to two eighths.

2b.

3a. Chloe’s statement is true.
3b. Tim’s statement is false.

2 1
4a. =z and >
1 2

4b. = and 5




image23.png
Greater Depth
9a. Two sixths is equal to four twelfths.

9b. Three eighths is equal to six sixteenths.

11a. Abigail’s statement is false.
11b. Habib’s statement is false.

2 4
12a. 5 and 6
12b. 2 and —
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Developing
1a. One quarter is the odd one out because the others show one half.

1b. One third is the odd one out because the others show one quarter.

2a. One quarter is not equal to three eighths, it should be two eighths.

2b. One quarter is not equal to three elevenths, it should be three twelfths.

3a. Use the digit cards 2 and 4 to make two quarters. Use the digit cards 2 and 8 to
make two eighths.

3b. Use the digit cards 3 and 12 to make three twelfths. Use the digit cards 3 and 6 to
make three sixths.
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4a. One third is the odd one out because the others show two fifths.

4b. Three tenths is the odd one out because the others show one third.

5a. One tenth is not equal to three twentieths, it should be two twentieths.

5b. One fifth is not equal to two fifteenths, it should be two tenths.

6a. Use the digit cards 2 and 10 to make two tenths. Use the digit cards 2 and 6 to
make two sixths.

6b. Use the digit cards 2 and 20 to make two twentieths. Use the digit cards 6 and 15
to make six fifteenths.
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7a. Five sixths is the odd one out because the others show six eighths

7b. Seven ninths is the odd one out because the others show three sevenths.

8a. Five sixths is not equal to fifteen twenty-fourths, it should be fifteen eighteenths.
Three sevenths is not equal to six thirteenths, it should be six fourteenths.

8b. Two ninths is not equal to six twenty-sixths, it should be six twenty-sevenths.
Three eighths is not equal to nine twenty-fifths, it should be nine twenty-fourths.

Qa. Use the digit cards 4 and 18 to make four eighteenths. Use the digit cards 16 and
28 to make sixteen twenty eighths.

Qb. Use the digit cards 6 and 16 to make six sixteenths. Use the digit cards 15 and18
to make fifteen eighteenths.
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Expected
5a. Simple past: described, completed;

Present perfect: have/has continued,
have/has answered.

éa. smiles - simple past tense.

7a. False, it is written in the present perfect
tense.

8a. Paul is correct.

Expected
5b. Simple past: learnt; Present perfect:

have/has grown, have/has answered,
have/has questioned.

6b. has remembered - present perfect.
7b. False, it is written in the simple past
tense.

8b. Connor is correct.
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Expected

4a. The crazy horse has jumped over the
stable door and has run wildly out of the
gate.

5a. Simple past because the verb is not
used forming ‘to have’.

éa. has designed

Expected

4b. The long-awaited film has finally
arrived at the cinema and we sfill have
not got any tickets.

5b. Present perfect because the verb have
is also used to form the tense.

6b. have changed
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Where, Wear, Were, We're

Where are you going?

Do you know what we're doing today?

Please can I wear your coat?

We were going to go swimming but it was closed.
That is where I used to live.

The children were very tired after their day out.

1 like to wear red.

Hurry up, we're going to be late.

We were freezing cold.
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. “What's for dinner dad?” Jacinda asked her dad.
. The witch looked at her sisters and asked, “When will we three meet again?”
. The mouse looked at the fox and quivered, “Please don't eat me.”

. “I'mstuck!” declared Sam as he held up his hand.

“Can you help me please?”

. “Goall” shouted the boy as the ball went to the back of the net.
. “John, can you hold this?” asked Joanne.

. “Off with her head!” shouted the Queen of Hearts.

. The policeman asked, “Can I see your licence please?”
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1. In 1969, what did Neil Armstrong become? Tick two.

O A pilot
O An eager Boy Scout
@ A worldwide name
@ A hero

2. Number the events below from 1to 4 to show the order in which they happened.

His parents took him to Cleveland Air Race.

He was accepted to the NASA astronaut corps.

He received his first pilot's licence.

wl[w][#][=

His dad took him for a ride in an aeroplane.

3. What happened to Neil Armstrong on 16™ July 19697 Tick one.

He suffered from travel sickness.
Neil and Buzz opened the hatch.
He was offered the chance to command the space mission Apollo 11.

The Saturn V rocket blasted Neil Armstrong and his crew mates into space.

Q00O
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4. Match each statement to the correct subtitle.

Preparation

The Moon Landing

Neil Armstrong was offered the chance
to command Apollo 11.

It took months of practice.

It was shown all across the world
on television.

They collected moon rocks.
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. Fill in the missing words.

He suffered from travel sickness as a child, but was fine in space.

. Find and copy one word which shows how keen he was as a Boy Scout.
eager

. Why do you think 600 million people watched the Moon landing on television?
Pupils’ own responses showing an understanding of how the astronauts were making
history and were the first people to land on the Moon.

. Why do you think he became a professor?
Pupils’ own responses explaining how even though he retired from being an astronaut,
his enthusiasm for space continued and he wanted to share his passion.
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